


5
6

@ 18 x

3
4
1
3

® 18x

@ 12 x

3
5
3
8

D 15x
@ 16 x



)
408 32

s

w2 7|2 1A

o
ze

@ 4§km



7t

1

ol
BK

94

]

Ao 9

87} 2.2 3}
o 3}

7o
B

R
i

ot

o
o

Aol



g7t

29

— NN |

— N —
b~ I Il
I ~enen o
0O — A
X X X
— — L]



6.

8 AN 2.

4 1
19— 11—
w 5 @ 5




X1

— |

— ™M o
X X
— | <O D=

Q@ ©

— | <f— |
X X
— O [

@ @



.;L
l:,_.

M o

ol
— < I+ — |
T ° ®
)

Mo+

e W

._Wm T — | ©
B o @
° B OEK

. _—

oo 9T

\H z_*__o H_T_
I
WD 0_1_ ‘_Wﬁ

Of — ﬂ
— | oT ﬂNL _ 7m
MM No o] o
53 =0

Tor 1, Wﬁ

e _qrm_r u._u

= T

T o B I
g Mo

B ooup M O



9.

H]

—

o

of dek2 FE AR HE AL,

%

5 2 3
2g | 3 |11
3 2
Iz1 5 |9
© | ©
. 4 .3 4 o 4 3 4
D (SlelH=E) 12, 3? ; @ (SlelHRH) g zzé 5
©) (_ﬂoﬂ/\-]l?_];]) z?, ?31,45 @ (%Oﬂ/ﬂ‘dﬂ) 1? 21, B

® (AAMAFH) -, 37, —



2
12129
8 5

12
7

1
177
6

10.

)
%

29 37
@ 1@ =

4
1=
®5

1
1=
®2

— ™

D1



11, $A0lH1e] =3 el Ho]o] ghe 2% ki QIHe. o] 5 L 7h ol
2ol 2 o 458 Ak ofR A% A gL e Wolg T

2.

1
@O = km? @ 1gkm2 @ 1= km?

@ 1= km? ® 21 km?2



12. o8 =g ojA MASH

1
L 25 o
\
3
2
ST NPT
o3
® 6£m2 @ Bgmz ® 9— m?
7
— 2 S 2
® 15m ® 155m



4

5F folU7h BhAE $6 E 1Y)

=
79

1
=

o]

1
@) 9§L @ 16L

2
L
@63

2
46- L
© 3

1
36- L
@ 3



14.

=
e

rE
1%

S
2 X
Ir

&

%

o
~—

® ©

olu] Foll= 2 Aof] g WK S} 1§L s 1, 3 el &

2
5
20l

|

712

L
Arht o U7

L ® %1

AN o
> o

ol W

oy 6 4 2



15. [ |l s

5. 2, 6, 82 & WA Yol Fo] 7pg A =S
WISl AME At uiE AU (RSO B REL 2
olojo} gict.)

2 1 2 1
152 22= 1- = 1=
@54 @) 3 @32 @505 @55



& 3020 1s§L o] 2o] 441}, o]

o

=

ki

e 2747

=

=

7

9 FER

16.

o9 LUk

el
o]
1_.___0

il

=
o
g
%
Hr
<

@ 280 L
® 560 L

93- L
@ 3

46- L

@ 3
186- L

@ 3



14171541 52 L8] o] gk, of shEolA

LSS
1

17, od e A

L@ LYk

§
ol
ol
!

E

13- L
@ 3

1

8-L
o

7-L
© 8

® 5L

5)
—L
24

@ 5



L]

2-—

SERE

HolE FohA L.

13

@ lﬂ ch

2

@ 1= cm?
2

® 4= cm?

cm?
@ 2ﬁ cm?

@



o) A Bopol] 2L B4E B AL AL BE 257}

3
1

1
3-,3
"3

5
6

19.

=

SF

=7

2.

— [

4 2
4- 2—
© ) @ )

2
92
®3

o<t



m
sS4t Ashde] 288kmE oA SRS, 2 A &£
of A-sAte} Al o] TS5 U7

1 30

100

100

@ 7 AT 20@ = @ 7 Azt 10—40 =
1

@ 8 Azt 103102 = @ 8 A|7F 15400 =

100
AlZF20— &
© 8 ARF20 52



